[ Efficiency vs vertpos |

~0.02

EaN

1:------------;--ﬂ--tr---qnnri-

[ : :
0.95L H

1072 10 1

Efficiend

~ 0.05

9,045 oo IR IR
o E :
20,04 et RUT NP R
o) F :
N0t ls] SRR R N SUNT NP RS
s F :
£0.08F b e b
(] = .
L S | R O T
0.02;— ------------------- P S P
0.015F ++++-i--fe{-|irereees P
0.03 iAo } ------- ;
0.005F -1t +H ---------- o mf-
OJ__\'O'uuuu!uuuuluuuu|||||||||||||
kS r i i ] :
o L | | 1 H
R 41111111 1S
0'95- | | 1 1 N
=30 -20 -10 0 10 20 30

[ Efficiency vs. sim PV z |

TP vert z (cm)

N 0.02r
>

50.018F
5.016F
9.014F
> -
D.012F
@

S F
£ 0.01F
q) -
0.008F
0.006F
0.004F
0.002F

0

FRVS)

Ratio

0.95,

0 =15 =10 -5

5

10 15 20

Sim. PV z (cm)




	Contents
	Page 1


